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Unit 7 Trigonometry Test #1 Review Date Period
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Find the x d your answers to the nearest ten-thousandth.
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Find the measure of each angle indicated. Using right triangle trigonometry. Round to the nearest
tenth.
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Find the measure of each side indicated.
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Using right triangle trigonometry. Round to the nearest

12)

& _ . |
N 1B0-00-4 B o ). mLE=\RO —gp-42 = HB
- & m LA = 3
{LHLHB $<EZ% wmih =42 5 Tam'il q qq’—maf C%
G-Mﬁ';é-—' 51+L-|H451:{: \ i ﬂjj&? _1{)
Tonug “anu® E___-g il PR il
o= o o o=y
o1 =
| i
mLa=\80—<A40=3| b1y e =2
L
tﬁssq\;\_&u t =405,56
= 1013
lz.cﬂsfjﬁ[ ot
{ﬁ‘l =D

€ 1019 Kuta Software LLC ALl riahis rturve‘l‘ Made woth ITafinsrte ANleehea O

Scanned with CamScanner



A = i ap S’lﬂ" |

Find the area of each triangle to the nearest tenth.
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Find each measurement indicated. Round your answers to the nearest tenth. Use the Law of Sines.
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Find each measurement indicated. Round your answers to the nearest tenth. Use the Law of

Cosines.
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Solve each triangle. Round your answers to the nearest tenth,
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Solve ench of the following storles. Be sure to define your variable, draw a picture, and show your

winkh,
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10) When you plant a tree, you need to support
it against the wind, You do this by tying
rope to the tree and staking it to the ground.
You then tie another rope to the tree at the
simie spot, but stake it to the ground on the
opposite side ol the first stake. The stakes
are |1 feet apant, 10 the angle of elevation
from the ground to the where the rope is tied
to the tree is 127 and 567, how far up the
tree are the ropes?

29) To find the distance between two small
towns, Moroni and Wales, an electronic
distance measuring instrument is placed on
a hill from which both towns are visible.
The instrument measured the distance to
Moroni as 4.1 miles and the distance to
Walcs at 4.5 miles. The angle between the
two lines of sight is 37°. What is the
distance between the two towns to the
nearest tenth?
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